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c) Pentru k = 1, avem cele mai mici valori: a = 105, b = 60, c = 110............................(2p)
2. a) n = 2,0(238095)…………………....……..................................................................(2p)
a 2010-a zecimală a lui n este 9 deoarece (2010 – 1 ) : 6 = 334 rest 5……...……………(1p)
b) Avem 
[image: image12.wmf]2

111

23212

<<

××

,
[image: image13.wmf]2

111

34323

<<

××

,....,
[image: image14.wmf]2

111

20102011201020092010

<<

××

......(2p)
Prin însumarea inegalităţilor rezultă: 
[image: image15.wmf]1111

2201112010

S

-<<-

….....................................(1p)
Finalizare….……………………………………………………………………….……..(1p)

3. a). 
[image: image16.wmf]1

2

1

-

×

=

+

n

A

A

n

n

cm 
[image: image17.wmf]45

1

23

2

24

23

=

-

×

=

Þ

A

A

cm..................................................(1p)


[image: image18.wmf]45

44

44

43

43

42

42

41

45

41

A

A

A

A

A

A

A

A

A

A

+

+

+

=

=....................................................................(1p)

[image: image19.wmf]1

44

2

1

43

2

1

42

2

1

41

2

-

×

+

-

×

+

-

×

+

-

×

=


[image: image20.wmf]336

=

cm........................................................(1p)
b)
[image: image21.wmf]2010

2009

4

3

3

2

2

1

2010

1

...

A

A

A

A

A

A

A

A

A

A

+

+

+

+

=

...........................................................(1p)

[image: image22.wmf]12010

135...4017

AA

=++++


[image: image23.wmf]4018

...

4

2

4018

...

3

2

1

-

-

-

-

+

+

+

+

=

.........................(1p)

[image: image24.wmf](

)

2009

...

2

1

2

2

4019

4018

+

+

+

×

-

×

=


[image: image25.wmf]2

2009

=

...............................................................(1p)
[image: image58.wmf]o


[image: image26.wmf]2

2010

1

1

A

A

M

A

=


[image: image27.wmf]Þ


[image: image28.wmf]2

2009

2

1

=

M

A

cm..............................................................................(1p)
4.
m( SHAPE  \* MERGEFORMAT 


AOP’) = 180
[image: image30.wmf]o

 – m( SHAPE  \* MERGEFORMAT 


AOP) = 180
[image: image32.wmf]o

 – [m( SHAPE  \* MERGEFORMAT 


AOM) + m( SHAPE  \* MERGEFORMAT 


MOP) ] =

=180
[image: image35.wmf]o

 – (54
[image: image36.wmf]o

 + 44
[image: image37.wmf]o

) = 180
[image: image38.wmf]o

 – 98
[image: image39.wmf]o

 = 82
[image: image40.wmf]o

.....…………...............................…….………(3p)
m( SHAPE  \* MERGEFORMAT 


AOB’) = m( SHAPE  \* MERGEFORMAT 


AOP’) – m( SHAPE  \* MERGEFORMAT 


B’OP’) = 72
[image: image44.wmf]o

..................................................................(1p)
m( SHAPE  \* MERGEFORMAT 


BOB’) = m( SHAPE  \* MERGEFORMAT 


BOP) + m( SHAPE  \* MERGEFORMAT 


POM) + m( SHAPE  \* MERGEFORMAT 


MOA) + m( SHAPE  \* MERGEFORMAT 


AOB’) = 
= 10
[image: image50.wmf]o

+ 44
[image: image51.wmf]o

+ 54
[image: image52.wmf]o

+ 72
[image: image53.wmf]o

= 180
[image: image54.wmf]o

..........................................................................................(2p)
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Sau
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